RRaERROEM-E

EKE@L&:*%ZF%B EMK

4> ==

2 & it
5A9H DIRBEEKBEDOEIHSE ITHELEEGHITHNLREESEDRREEMoELLET,
BES 2 HES 255 R
R BT 85 AT (RS SHHH (LR 5] —t HARH BT 51840073
s BB T (6 B 08 2) (% - (5] st A -
35| SRR o7 — AT H U\ TER BB (HHR) —xt BERH -
s JE IR B A T GBS S T () —xt ARAH RIERHS 54,000
2| B 7 80 AT (4 S BT (AR —xt KAEETE Bt 1280073
s el S B T CHURALLTE ) (PR —xt KEAETOE B2t 432,000
- wim| T A (A0 5% R IR DN % () (L - 2] —xt TRAER Bt 21492079
s e { BT BT A A0) —xt A-EE HREH 96,1207
(EEfEH]
R A WO E SR URT RS (RS FHHRES D) (FAHE) —t et 55070 | lewaal
H5—EEHN5—) 12M/ K
Hh5—EEH(E/oD0) 22K
e misol B S— LAV R OERE (FRESFHT LAMELS MER]| X |LEx~-ReLLwL Aad 142,884
m-FERI|IREMH224 £2FERE (BEEFSRBREHABM) (NxHHE) 6505015411 ADER £t171,000%7 FAF—=TIoT420 %A 897,544




BRES L BEH (&% RiE%E

ras- 2| 3 15 KA - R MRIATRERR 2 A IDERL 75,0004% KA Foya—KL—av 255,150
mE-wEes BB EAE2/ VYOBA FREESEH) (AR 8] —= EEEETE KAt 111,585
mr-rEe EERKEDORE ERFEEBMAES =) [AEAR] 18 BXst IvES 291,600
- PEs| OAMEER (FHILNAS) DEA (EREEEHBAAE S =) [FRR] —= SEEHIRTLY—ER HXeit 785,808
M- Es| OAM SR (BAZRM VAT L) DEBAERFEEHAASE) [FEER] —= AR No. 1 581,040
mr- e | BEXBEEOBA ERELEHEFIRASE) [FAEXR] —= RErvh7—9 #HAett 1,066,824
MR- FEgs| SO O —th1 mDEA —= Ta170 #X&Ht 610,632M
ma-FiEo| 2R 58 (REE) OB A[#EXRE] 8& “rRA&H FATVIR 392,688M
mse- iEaz0| F ST 2 ERART RN IO /ER [FERIR] 80,000%% BIR=# RRENRIAT 146,880




